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INDUSTRIAL MANAGEMENT

fuiha o  d =) (frenan 3 : 70
Time allowed : Three Hours] [Maximum Marks : 70

Pz () FEA N AT E, sy 7 @ fel IR & I o |
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(ii) % YT & G} 9Tl ) AR O G FT B |

Solve all parts of a question consecutively together.
(iii) Y% ¥eT %1 73 g8 8 IR Fifard |
Start each question on fresh page.

(iv) ﬁ#waﬂﬁamﬂg}#aﬁ@ﬁ#aﬁéﬁa@amﬂm? /
Only English version is valid in case of difference in both the languages.

. () e i1 & Pt e e &1 e FE AT R 7

(a) B0 A (b) Th.T, ST
(¢) g d v
Who among following is known as father of scientific management ?
(a) Henry Fayol (b) F.W.Talyor
(c) Peter Drucker (d) Marry Follet
@) Trfafaa 5 & HEETSH, §H WS i SEeTal 2 7
(a) ¥ G (b) A TS
(c) A TS (d) A qUT RIE SSA
Which organisation out of the following is also known as military organisation 7
(a) Staff organisation (b) Committee organisation
(¢c) Line organisation (d) Line & Staff organisation
(3) Frffaa # & T AR TR
(a) A IW WS (b) ST 0 A A T A HrEAT
() & T B & (d) I wdi

Which out of the following is not a negative motivation ?
(a) Punishment for late coming (b) Salary deduction for short production
(c) Prize for initiation (d) All of the above

(1 of 8) P.T.O.
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ity et e, 1948 ¥ aEa U IaEh oy & Si weg fuwan e
qug H HUFhd & 7
(a) 48% (b) S0H
(c) 42w (d) sS4

What are maximum working hour per week for adult worker as per Indian
Factory Act, 1948 ?

(a) 48 hours (b) 50 hours

(c) 42hours (d) 54 hours

e & FdwT # safaTa ST Aftewan AR E ?

(a) 10% (b)y 20%

(c) 30% (d) 40%

What is maximum rate of income-tax for individual in India ?
(@ 10% (b)y 20%

(c) 30% (d) 40%

Tiret aied AufEm, 1988 % AT “goE At aE’ (T dl.) % foe siftrean
s dfm feaT R ¢

(@) 6500 kg (b) 7500 kg

(¢) 8500kg (d) 9500kg

What is the maximum weight limit for LMV (Light Motor Vehicle) as per Motor
Vehicle Act 1988 ?

(@) 6500 kg (b) 7500 kg

(c) 8500kg (d) 9500kg
Srafirfigs & & @ o aee Brn saf@a? ?

(a) PERT ' (b) CPM

© @3 @) FHIARETE
Which technique out of following is activity based ?
(a) PERT (b) CPM

(c) Both(a) & (b) (d) None of these

ﬁ(?ﬁnnm%ﬁﬁﬁm%f@aﬁﬁmaﬂaﬁi ?
(a) o i ww A S E |

b) W H T o i R )

(©) & et < ger A ‘Ev’ e S @ |

@ WHaRH S efiT

Which out of following is not true for PERT technique ?
(a) In PERT, three time estimates are made.

(b) InPERT, slack is calculated.

(¢) “Time’ is important than ‘money’ in PERT.

(d) All of above are true for PERT.



MR310
®

(3 of 8) 362
ABC frgetgn 7 Soft A P AW R E ?
(a) gﬁaua’ia:rlmﬁls%amgﬁa%ﬁmw/m?m
(b) Wnﬁmzo%%m%m@a@wm%ﬁso%
(©) el Ha B 70% & 80% a1 Fet Yot H AT 10%
(d) Iotea H & A @
Which items are included in category A in ABC analysis ?

(@) About 10% to 15% of the total items and account for 70% to 75% of total
capital.

" (b) About 20% to 30% of the total items and account for 20% to 30% of total

(10)

(an

(12)

capital.

(c) About 70% to 80% of the total capital and account for approx 10% of total
capital.

(d) None of the above.

o Frera’ & i e T ERa R 7

(@ O o O

© V @ =

Which is symbol for ‘Inspection’ in ‘work study”’ ?
(@ O ® O

© V @ =
onf@AT (Therbligs) %1 avare fFedi 2 7

(@) & ama (b) TR ARG
(c) @RI’ (d) HEHA A
“Therbligs® are related to which out of following ?
(a) String diagram (b) Flow diagram
() SIMO Chart (d) Cycle graph

‘mﬁmm@rm@m)'%mmwi ?

(a) T ST %1 W S AT & e ' 2 |
(b) T T A S S A R R |
(©) mmwmmm%mﬂmtl |

@) wFHAFETE

Which out of the following is true for ‘Economic Order Quantity (EOQ)’ ?
(@) The cost of carrying is more than cost of ordering.

(b) The cost of carrying is less than cost of ordering.

(¢) The cost of carrying is equal to cost of ordering.

(d) None of the above.
P.T.O.
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iftga = (t,), FRTEE T (1), ﬁ{rmnﬁm(tp)mmnmm
(t) FHA EEU R —
t,+4t t,+ 4t
® te=—6't” ) tez_Tf__‘n
t,+4t +t t,+ 4t +t
(C) tez_o..._GP_" (d) te=_§L_£

The relationship between expected time (t.), optimistic time (t,), pessimistic
time (t,) and most likely time (t)) is
t,+4t+t t,+ 4t +t

) gt o O o
t,+4t +t t,+4t +t

(C) te = _9_.32_._.__’ ( d) te = 39 !
o frmatl & ot g a9a ¥4 #ia 2, 3 waedl #
(a) Iushifees fopamd (b) {9 Fhiferes fopard
(c) =t shiferap Tomamd (d) shiferen foramd
The activities for which total float is equal to zero are known as
(a) subcritical activities (b) super critical activities
(c) under critical activities (d) critical activities
PERT/CPM 912 # shifcres 99 fha st hl Siigr s & ?
(a) ftrhan g areft (b) gFaH g aTedt
(c) ¥ g el (d) aitud g el
Critical path on a PERT/CPM Chart is obtained by joining the events having
(a) maximum slack (b) minimum slack
(c) zero slack (d) average slack _

(16) wa= & fr=ifefiaa i 3 & wiago fead srar? ¢
(a) T (b) e
(© FrmEw @
Supervision comes under which following functions of management ?
(a) Organisation (b) Staffing
(c) Controlling (d) Directing

(17) Tr=fafaa o & Rl ‘S’ | St Iud’ o et foramd wnfier € ¢
(a) 3 (b) fasra
(¢) Tomum (d) Teasmea
Which out of the following includes all activities from production to consumption ?
(a) Purchasing (b) Sales

(¢) Marketing (d) Advertisement
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Frferfiga 3 & H\ a1 Wl 1 St Fia T8 2 ?
(a) Ga=d (b) Wi
(c) TR (d) srgaT i fasE g
Which is not an internal source of recruitment ?
(a) Promotion (b) Training
(¢) Transfer (d) Advertisement in Newspaper
Arefefiaa § 4 2 o Rt sieag T R ?
(a) wHiIE (b) «=E
(c) el T gfa (@) IR TR
Which is not a financial incentive ?
(a) Commission (b) Bonus
(c) Extra increment (d) Authority Delegation
(20) W T fere fam 1 % 4d 2
(@) i (b) =&
(c) e (@) T
Which is not a function of Human Resource Development Department ?
(a) Recruitment (b) Selection
(c) Performance appraisal (d) Marketing
fmiafrmvea s afgafe _
(@) TeeA b) TH.IFY, &R
() wae (d) wra
Who has given 14 principles of management ?
(a) Elton Mayo (b) F.W.Talyor
(c) Fayol (d) Herzberg
fﬁﬂi:ﬁﬁﬁxii3vqi:aﬁﬁatzﬁ*aﬁ:3n%¥r&ﬁisraﬂ%nan?% ?
(a) YEnEE (b) &% TS
(c) Y@ aul &IH @IS @ AT
Which organisation has right to give order to their subordinate ?
(a) Line organisation (b) Staff organisation

(23)

(c) Line and Staff organisation (d) None of these

7T qe Frata WP e @ ?

(a) AR (b) TAEEAR

(c) SRS @) THAPETE
Which tax is imposed on import and export ?

(a) Income tax (b) Business tax

(¢) Excise duty . (d) None of the above

P.T.O.
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s Bt R, 1948 3 Sa Fielt wrorg 3 fore e e Seiet ST
At =R ?

(@ 92 (b) 102

() 132 @ 142

What minimum cubic metre space is required for a labour as per Indian Factory
Act 1948 ?

(@ 92 ®) 102

() 132 d 142

MIS &1 0 719 2

(a) &R g aX (b) Y AT
(c) wmEf g aa @ THIABETE

What is full form of MIS ?

(a) Mechanical Information System
(b) Management Information System
(¢) Material Information System

(d) None of these

fopa w6 Frfargr o o1d oft Pafary e asan B 2

(@) wwgiar B (b) i FifeE

(c) Hiftra Pafaer d) feuda fifea

In which type of tender, any one can apply ?

(a) Contract tender (b) Open tender

(¢) Limited tender (d) Two stage tender
farg wafire o =an Siph wiFEd E ?

(a) Tehel Wil (b) wrREd

(c) wgw ot IUHA (@ 30 g
Which ownership has minimum legal process ?

(a) Sole trading (b) Partnership

(c) Joint Stock Company (d) All of the above
e A =1 7% WaH BT 2 7

(a) it (b) aTEH

() g® (d) T EHIE A
Which cheque is enchased in cash ?

(@) Crossed (b) Bearer

(c) Draft (d) None of these
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(29) fauorm 3 = p i wnfire 78 2

(a) Product (b) Purchase
(c) Price (d) Promotion
Which is not included in 4P’s of marketing ?
(a) Product (b) Purchase
(c) Price (d) Promotion
(30) 3ivenfirs i & = # F wn wiE E 2 7
(a) o g (wefit) (b) EigeR U g 64
(c) e (d) HeaTE o

Which is not covered under Industrial Insurance ?

(a) Loss of profits (Machinery)

(b) Boiler and pressure plants

(c) Fire insurance

(d) Motor vehicle insurance (1x30)

2. (i) e TEHeE e SATIR % g o ferfe |
Write two properties of sole trade type of ownership.

(i) G i wiwm e |
Define organisation.
(iif) e FETeA e % Friem gat @ %H fafe |
Write two employment related works of Human Resource Development.
(iv) e o Qe 1 wfted e G |
Give sample of format of journal.
(v) weg-geh PR 2
What is inventory control ? (2x5)
3. () = SR I GEsh affal 1 avi i |
Explain different types of co-operative societies.
(i) O QTS /G % FTHT Feiodl I HHFTEY |
Explain the general duties of Foreman/Supervisor. (5+5)

4. (i) Wﬂmwmi?sﬂ%ﬁﬁﬂwﬁaﬁml
What do you understand by contracts ? Explain its various types.

(if) gl sy <t fepe < sonferdl 1 vl Hif |
Describe any two methods of wage payment. (5+5)

5. (i) o form % o w el ) ERETEY |
Explain functions and duties of Finance Department.
(i) T deew #1 R 2 farqur <t faftrt &1 oo I |
What is the concept of marketing ? Mention the methods of marketing. (5+5)
P.T.O.
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T & et B U ) T8 § S -
Explain following taxes in brief regarding tax system.
(a) JAER
Income-tax
(b) fasma e
Sales tax
(c) IR
Excise duty (2+2+1)
Fadt arfufem, 1948 % mgmam%dﬁﬁdﬁmmwaﬁaw |

Describe the provisions regarding safety and working hours as per Factory Act,
1948. ®)

7 37eE @ qRonfya Hife o e e e )
Define work study and write down its advantages.

faeft 3eivr o we I7aga i @d 20 1 W a6 2 a0 MR S AT AT HA I AP
7 40 2 | af Wi 397 T 2 100 71 SEg-Geh e e sfar o 16% & at @lig
g anffe 3R wen i Hifor |

In an Industry the consumption of an item is 20 units per year and the cost of
ordering and procuring is ¥ 40. If the cost of item is T 100 and the inventory
carrying cost is 16% per year, then find Economic Order Quantity for
procurement. (5+5)

CPM @1 PERT faftri # siaw =g I |
Differentiate between CPM and PERT methods.

e g orrett o faifir=t s fafa |
Wrrite different applications of Management Information System. (5+5)

forer & Rl o o aifie foooft forfae -

Write short notes on any three of the following :

@

(i)

A F
ILeadership Qualities.
Iyt &

Service after sales.

(iii) = =TGR

Cheque and Draft.

(iv) et =i

Man-Machine Chart : (4+3+3)



